
  

    (DBMAT 31) 

ASSIGNMENT-1 

B.A./B.Sc. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

Mathematics III – RINGS  AND LINEAR ALGEBRA 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

1. Prove that a field has no zero divisors. 

 „óü{™èþÐèþ$$¯èþMæü$ Ôèý* è̄þÅ ¿êfM>Ë$ ÌôýÐèþ# A° è̂þ*ç³…yìþ. 

2. The homomorphic image of a ring is a ring. 

 JMæü ÐèþËÄæý$… Äñý$$MæüP çÜÐèþ$Ææÿ*ç³™é {ç³†¼…º… Ðèþ$ÆæÿË ÐèþËÄæý$Ðóþ$ AÐèþ#™èþ$…¨. 

3. If f  is a homomorphism of a ring R  into a ring R′  then Kerf  is an ideal of R .  

 
': RRf →  ÐèþËÄæý$ çÜÐèþ$Ææÿ*ç³™èþ Äñý$$MæüP Kerf R ÐèþËÄæý*°Mìü B§æþÆæÿØ… AÐèþ#™èþ$…¨. 

4. Prove that the linear span ( )SL  of any subset S  of a vector space ( )FV  is a subspace of 

( )FV . 

 ( )FV  çÜ§éÔ>…™èþÆ>âæý…ÌZ H§ðþŌ é Eç³çÜÑ$† S  Äñý$$MæüP º$$kÐéÅí³¢ ( )SL , ( )FV  Äñý$$MæüP E´ë…™èþÆ>âæýÐèþ$$ A° 

^èþ*ç³…yìþ. 

5. Show that the mapping 22: RRT →  defined by ( ) ( )bababaT 43,32, −+=  is a linear 

transformation. 

 
22: RRT →  {ç³Ðóþ$Äæý$ °ÆæÿÓ^èþ¯èþ… ( ) ( )bababaT 43,32, −+=  º$$k ç³ÇÐèþÆæÿ¢̄ èþÐèþ$° è̂þ*ç³…yìþ. 

6. Find the characteristic equation of A , where 
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A  AÆÿ$$ è̄þç³šyæþ A  Äñý$$MæüP Ìê„æü×ìýMæü çÜÒ$MæüÆæÿ×ê°² Mæü è̄þ$MøP…yìþ. 
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1. State and prove Cauchy- Schwarz inequality in an inner product space ( )FV . 

 ( )FV  A…™èþÆæÿÏ»ê®…™èþÆ>âæý…ÌZ MøíÙ& ÚëPÆŠÿj AçÜÐèþ* è̄þ™èþ¯èþ$ {ç³Ðèþ_…_ °Ææÿ*í³… è̂þ…yìþ. 

2. Find a unit vector orthogonal to ( )3,2,4  in 3R  with respect  to the standard inner product. 

 3R  A…™èþÆ>âæý…ÌZ ( )3,2,4   çÜ¨ÔèýMæü$ Ë…º…V> Ðèþ#…yóþ Äæý$*°sŒý çÜ¨Ôèý è̄þ$ Mæü¯èþ$MøP…yìþ. 

3.  (a) (i) Every finite integral domain is a field. 

   {ç³† ç³ÇÑ$† çÜÐèþ${Væü yöÐðþ$Ō Œþ JMæü Ææÿ…Væü… A° °Ææÿ*í³…^èþ…yìþ. 

  (ii) Prove that an ideal U  of a commutative ring R  with unity is maximal if and only 

if the quotient ring UR /  is a field. 

   ™èþ™èþÞÐèþ$ Ðèþ$*ËMæü… VæüË Ñ°Äæý$Ðèþ$ ÐèþËÄæý$Ððþ$Ō èþ R ÌZ U  A ó̄þ A§æþÆæÿØ… A«̈ Mæü™èþÐèþ$… M>Ðèþyé°Mìü BÐèþÔèýÅMæü, 

ç³Æ>Åç³¢ °Äæý$Ðèþ$Ðèþ$… Ðèþ#Ó™èþµ è̄þ² ÐèþËÄæý$Ððþ$Ō èþ UR /  „óü{™èþ… AVæü$r A° è̂þ*ç³…yìþ. 

  (b) (i) 
'Z  is a principal ideal ring. 

    
'Z  {ç³«§é è̄þ B§æþÆæÿØ ÐèþËÄæý$… 

  (ii) State and prove fundamental theorem of homomorphism of rings. 

   ÐèþËÄæý$… Äñý$$MæüP çÜÐèþ$Ææÿ*ç³™èþ Ðèþ$*Ë íÜ§é®…™é°² °Ææÿ*í³… è̂þ…yìþ. 

4. (a) (i) Let 1W  and  2W  be two subspaces of a finite dimensional vector space ( )FV . Then 

prove that ( ) ( )212121 dimdimdimdim WWWWWW ∩−+=+ . 

   1W , 2W  Ë$ JMæü ç³ÇÑ$™èþ ç³ÇÐèþ*×ý çÜ¨Ô>…™èþÆ>âæý… ( )FV  Mìü E´ë…™èþÆ>âêË$ A è̄þ$Mæü$…§é… Aç³šyæþ$ 

( ) ( )212121 dimdimdimdim WWWWWW ∩−+=+  A° è̂þ*ç³…yìþ. 

  (ii) Can we express  the vector ( )3,5,2 −=α  as a linear combination of the vectors 

( )1,1,11 =e  ( )3,2,12 =e  and ( )1,1,23 −=e  in ( )RR3 . 

    ( )RR
3  ÌZ° ( )3,5,2 −=α  A è̄þ$ çÜ¨Ôè è̄þ$ ( )1,1,11 =e ( )3,2,12 =e  Ðèþ$ÇÄæý$$ 

( )1,1,23 −=e  Ë è̄þ$ çÜ¨ÔèýË çÜ…Äñý*Væü…V> {ÐéÄæý$VæüËÐèþ*? 



     

  

  (b) (i) Find the null space,  range , rank and nullity  of the linear combination 

32: RRT → is defined by ( ) ( )yyxyxyxT ,,, −+= . 

   ( ) ( )yyxyxyxT ,,, −+=   V> °ÆæÿÓ_… è̂þºyìþ è̄þ 32: RRT →  JMæü HMæüçœ*† Ææÿ*´ë…™èþÆæÿ×ýÐèþ$° 

^èþ*ç³…yìþ T Äñý$$MæüP Møsìý, Ôèý*¯éÅ™é…™èþÆ>âæýÐèþ$$ Ôèý* è̄þÅ™èþÓÐèþ$$Ë è̄þ$ Mæü è̄þ$MøP…yìþ. 

  (ii) If ( ) ( )FVFV →:φ  is a homomorphism. Show that φKer  is a subspace of ( )FV . 

   ( ) ( )FVFV →:φ  JMæü çÜ¨Ô>…™èþÆ>âæý çÜÐèþ$Ææÿ*ç³™èþ AÆÿ$$™óþ ( )FV  Mæü$ φKer  JMæü E´ë…™èþÆ>âæý… 

AVæü$ è̄þ° è̂þ*ç³…yìþ. 

5. (a) (i) Find the eigen values and the corresponding eigen vectors of the matrix 
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A  A è̄þ$ Ðèþ*{†MæüMæü$ IVæü¯Œþ ÑË$ÐèþË$ Ðèþ$ÇÄæý$$ IVæü¯Œþ çÜ¨ÔèýË$ Mæü è̄þ$Vö è̄þ$Ðèþ$$. 

  (ii) Prove that the matrices 

















−−

−

−

=

51016

81626

3610

A  and 

















−−

−−

=

1660

45170

1660

B  are 

similar. 

   ò³Ō èþ ™ðþÍí³ è̄þ Ðèþ*{†MæüË$ A,B çÜÆæÿ*´ëË° ^èþ*ç³…yìþ. 

  (b) (i) State and prove Cayley-Hamiltan theorem.  

   MóüÆÿ$$Î&õßýÑ$Ët̄ Œþ íÜ§é®…™èþÐèþ$$ è̄þ$ {ç³Ðèþ_…_ °Ææÿ*í³…^èþ$Ðèþ$$. 

  (ii) If 
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A  AÆÿ$$™óþ, A  Äñý$$MæüP ÑMæüÈ~Äæý$™èþ è̄þ$ ç³ÇÖÍ…^èþ…yìþ. 

 



     

  

6. (a) (i) State and prove Parseval’s identity. 

   ´ëÆðÿÞÐèþÌŒý Äñý$$MæüP Væü$Ç¢…ç³# °ÆæÿÓ_…_ °Ææÿ*í³… è̂þ…yìþ. 

  (ii) State and prove Bessel’s inequality. 

   »ñýòÜÞÌŒý AçÜÐèþ* è̄þ™èþ °ÆæÿÓ_…_ °Ææÿ*í³…^èþ…yìþ. 

  (b) Construct an orthonormal basis of 3R  using Gram-Schmidt orthogonalization process 

from ( ) ( ) ( )}0,3,1,1,0,2,,3,2,1{=B . 

  ( ) ( ) ( )}0,3,1,1,0,2,,3,2,1{=B  è̄þ$…_ {V>ÐŒþ$&çÙÃyŠþ Ë…ÁMæüÆæÿ×ý ç³§æþ®†° Eç³Äñý*W…_ JMæü  Ë…»êÀË…º 
3R  B«§éÆ>°² °ÇÃ… è̂þ…yìþ. 
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1. Prove that 22

4

1
1 δµ += . 

 
22

4

1
1 δµ +=  °Ææÿ*í³…^èþ$Ðèþ$$. 

2. Construct a forward difference table from the following data: 

 D {Mìü…¨ §æþ™é¢…Ôèý… è̄þMæü$ ç³#ÆøVæüÐèþ$ A…™èþ@ÆóÿÓÔèý è̄þ ç³sìýtMæü è̄þ$ Ææÿ*´÷…¨… è̂þ$Ðèþ$$. 
x 0 1 2 3 4 

y 1 1.5 2.2 3.1 4.6 

3. Find the missing value in the following: 

 {Mìü…¨ §æþ™é¢…Ôèý… è̄þ…§æþ$ ÌZí³…_ è̄þ ç³§æþ… è̄þ$ Mæü è̄þ$Vö è̄þ$Ðèþ$$. 
x 45 50 55 60 

f(x)  3.0 – 2.0 0.225 

4. State Bessal’s formula. 

 »ñýòÜÌŒý çÜ*{™èþ… è̄þ$ °ÆæÿÓ_… è̂þ$Ðèþ$$. 

5. Evaluate )10(f  given 168)( =xf , 192, 336 at 15,7,1=x  respectively. 

 15,7,1=x  Ðèþ§æþª 168)( =xf , 192, 336 AÆÿ$$ è̄þ^ø )10(f ° Mæü è̄þ$Vö è̄þ$Ðèþ$$. 

6. Evaluate dxx∫
1

0

3  with five sub intervals by trapezoidal rule. 

 çÜÐèþ*MæüË è̄þ ÐéÅí³¢° I§æþ$ ¿êV>Ë$V> Ñ¿æýh… ó̂þ dxx∫
1

0

3 ° {sñýí³gêÆÿ$$yæþÌŒý çÜ*{™èþ… §éÓÆ> Væü×ìý…^èþ$Ðèþ$$. 
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1. Find a real root of 0433 =−− xx  by the Newton Raphson method. 

 è̄þ*År Œ̄þ&Æ>‹œÞ Œ̄þ ç³§æþ®† §éÓÆ> 0433 =−− xx  Äñý$$MæüP JMæü ÐéçÜ¢Ðèþ Ðèþ$*Ìê°² Mæü è̄þ$MøP…yìþ. 

2. Solve the equations 32 =−+ zyx , 02 =+− zyx  83 =−+ zyx  by Cramers rule. 

 {M>Ðèþ$ÆŠÿ íÜ§é®…™èþ…¯èþ$ Eç³Äñý*W…_ 32 =−+ zyx , 02 =+− zyx  83 =−+ zyx ° Ýë«̈ …^èþ$Ðèþ$$. 

3.  (a) (i) Prove that 
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µδ  °Ææÿ*í³…^èþ$Ðèþ$$. 

  (ii) State and prove Newtons forward interpolation formula. 

   è̄þ*År Œ̄þ ç³#ÆøVæüÐèþ$¯èþ A…™èþ@ÆóÿÓÔèý è̄þ çÜ*{™èþ… è̄þ$ {ç³Ðèþ_…_ °Ææÿ*í³… è̂þ$Ðèþ$$. 

  (b) (i) Use Newton’s divided difference formula and find )5(f  from the following data. 

   {Mìü…¨ §æþ™é¢…ÔèýÐèþ$$ è̄þ$…yìþ è̄þ*År Œ̄þ Ñ¿êh™èþ ¿ôý§æþ çÜ*{™èþÐèþ$$ è̄þ$ §éÓÆ> )5(f ° Mæü è̄þ$MøP…yìþ. 

x –1 0 3 6 7 

ƒ(x) 3 –6 39 822 1611 

  (ii) State and prove Legranges interpolation formula. 

   Ìñý{V>…gŒý A…™èþ@ÆóÿÓÔèý¯èþ çÜ*{™èþ… è̄þ$ {ç³Ðèþ_…_ °Ææÿ*í³…^èþ$Ðèþ$$. 

4. (a) (i) Using Gauss forward interpolation formula find )5.2(f  using the following data : 

   V>‹Ü ç³#ÆøVæüÐèþ$ è̄þ A…™èþ@ÆóÿÓÔèý è̄þ çÜ*{™èþ… Eç³Äñý*W…_ D {Mìü…¨ ç³sìýtMæü §éÓÆ> )5.2(f ° Væü×ìý…^èþ$Ðèþ$$. 

x 1 2 3 4 

ƒ(x) 1 8 27 64 

  (ii) State and prove Stirling’s formula. 

   òÜtÇÏ…VŠü çÜ*{™èþ… è̄þ$ {ç³Ðèþ_…_ °Ææÿ*í³… è̂þ$Ðèþ$$. 

  (b) (i) State and prove Gauss Backward formula. 

   V>‹Ü †ÆøVæüÐèþ$¯èþ A…™èþ@ÆóÿÓÔèý¯èþ çÜ*{™é°² {ç³Ðèþ_…_ °Ææÿ*í³…^èþ$Ðèþ$$. 

   



     

  

 

 (ii) Use Stirling’s formula to evaluate )25(f  from the following data : 

   {Mìü…¨ §æþ™é¢…Ôèý… è̄þMæü$ òÜtÇÏ…VŠü çÜ*{™èþ… B«§éÆæÿ…V> )25(f ° Væü×ìý…^èþ$Ðèþ$$. 

x 10 20 30 40 

f(x) 1.1 2 4.4 7.9 

5. (a) (i) Compute )4(f ′  from the following table. 

   {Mìü…¨ ç³sìýtMæü Eç³Äñý*W…_ )4(f ′  ÑË$Ðèþ è̄þ$ Mæü è̄þ$MøP…yìþ. 
x 1 2 4 8 10 

y 0 1 5 21 27 

  (ii) Evaluate the integral ∫
3

1

1
dx

x
 by Simpson’s 

3

1
 rule with 4=n  sub intervals 

respectively. 

   íÜ…ç³Þ Œ̄þ 
3

1
 çÜ*{™é°² Eç³Äñý*W…_ ∫

3

1

1
dx

x
 çÜÐèþ*MæüË° ° E´ë…™èþÆ>Ë çÜ…QÅ 4=n  AÆÿ$$ è̄þç³šyæþ$ 

Mæü è̄þ$MøP…yìþ. 

  (b) (i) Find an approximate value of y  for 4.0=x  by Picard’s method given that 

22 yx
dx

dy
+= , 0)0( =y . 

   22 yx
dx

dy
+= , 0)0( =y  AÐèþMæüËgê°Mìü 4.0=x  Ðèþ§æþª í³M>ÆŠÿz&ç³§æþ®† §éÓÆ> y  ÑË$Ðèþ¯èþ$ Mæü è̄þ$Vö è̄þ$Ðèþ$$. 

  (ii) Using Euler’s method compute )3.0(y  with 1.0=h  from the following yxy +=' , 

1)0( =y . 

   yxy +=' , 1)0( =y  è̄þ$ 1.0=h  AÆÿ$$ è̄þ^ø IÆÿ$$ËÆŠÿ ç³§æþ®† §éÓÆ> )3.0(y ° Væü×ìý…^èþ$Ðèþ$$. 

6. (a) (i) Find a real root of 0523 =−− xx  by the Regula-Falsi method. 

   0523 =−− xx  çÜÒ$MæüÆæÿ×ê°² ÆðÿVæü$ÅÌê&¸ëÎÞ ç³§æþ®† §éÓÆ> ÐéçÜ¢Ðèþ Ðèþ$*Ìê° Mæü è̄þ$MøP…yìþ. 

  (ii) Solve by the Gauss elimination method of the following system of equations. 

   D {Mìü…¨ çÜÒ$MæüÆæÿ×êË è̄þ$ V>‹Ü Ë$ç³¢ÔóýçÙ ç³§æþ®† §éÓÆ> Ýë«̈ …^èþ$Ðèþ$$. 
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  (b) (i) Use Gauss-Seidal  method to solve the equations. 

   D {Mìü…¨ çÜÒ$MæüÆæÿ×êË è̄þ$ V>‹Ü&òÜOyæþÌŒý ç³§æþ®† §éÓÆ> Ýë«̈ …^èþ$Ðèþ$$. 
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  (ii) Find a real root of 8log20 10 =− xx  by iteration method. 

   ç³# è̄þÆæÿ$Mìü¢ Ñ«§é è̄þ… §éÓÆ> 8log20 10 =− xx  Mæü$ JMæü ÐéçÜ¢Ðèþ Ðèþ$*Ìê°² Mæü è̄þ$MøP…yìþ. 
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1. D {Mìü…¨ Ðé°Mìü Ýù§éçßýÆæÿ×ý ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$.  

 (a) {§æþ$™é…™èþÐèþ$$ÌñýŌ èþ ç³§æþÐèþ$$Ë$ {§æþ$™èþ {ç³Mæü–†MæüÐèþ$$Ë$ 

 (b) {†Í…Væü §óþÔèý ÐèþÅÐèþà íÜ§æþ®…ºVæü$ ¿êçÙ §óþÔèýÅ…º$ 

 (c) A^èþ$a è̄þ M>{Ðóþ$yìþ™èþ…º$ ç³Ææÿ…ºVæü$ è̄þç³šyæþ$ çÜ…«̈ ™èþÆæÿ^èþ$V> è̄þVæü$ 

 (d) ™ðþ¯èþ$Væü$Ë Ò$¨ Ýë…çÜP –†Mæü ç³Ææÿ$çÙÐèþ$$ËMæü$ VæüçÜyæþ§æþÐèþË$ Æ>Ðèþ# 

 (e) ç³yéÓ§æþ$Ë$ ç³Ææÿ…º$ËVæü$ è̄þç³šyæþ$ Ðèþ$$ÐèþÆæÿ~…º$ è̄þMæü$ ÌZç³ ç³NÆæÿ~ ¼…§æþ$Ðèþ#Ë$ Ñ¿êçÙËVæü$ 

 (f) Mæü{§æþ$Ðèþ ¯éVæüÐèþ*™èþ 

 (g) ‘¯ø’ ÔèýºªÐèþ$$ è̄þMæü$ ¯é ÐèþÄæý$Væü$ 

 (h) Mæü*™èþ$ ÔèýºªÐèþ$$ {ç³£æþÐðþ$OMæü Ðèþ^èþ è̄þÐèþ$$ è̄þMæü$ ‘Ææÿ$’ ÐèþÆæÿ~…ºVæü$.ü  

2. D {Mìü…¨ Ðé°° Ñyæþ©íÜ çÜ…«̈  M>ÆæÿÅÐèþ$$Ë¯èþ$ çÜ*{™èþ çÜíßý™èþÐèþ$$V> {ÐéÄæý$$Ðèþ$$. 

 (a) ¯èþ è̄þ²yìþVðü 

 (b)  Ðóþ$ è̄þË$Ïyæþ$ 

 (c) LÆúÆæÿ 

 (d) °r*tÆæÿ$µ 

 (e) Òyæþ$ ^èþ{Mæü´ë×ìý  

 (f) Ðèþ$$…Vö…Væü$ 

 (g) çÜÆæÿçÜç³#rË$Mæü 

 (h) _Væü$Æ>Mæü$  

  



     

  

3. D {Mìü…¨ Ðé°Mìü çÜ…«̈  ó̂þíÜ çÜ*{™èþ çÜíßý™èþÐèþ$$V> {ÐéÄæý$$Ðèþ$$. 

 (a) Væü…W + G§æþ$ª 

 (b)  _Ææÿ$ + GË$Mæü 

 (c) ¿æýÄæý$Ðèþ$$ + ç³yæþ$ 

 (d) õ³Ææÿ$ + B§æþ$Ë$ 

 (e) FÆæÿ$ + ç³ÌñýÏ  

 (f) Gr$t + Gr$t 

 (g) ÝùÐèþ$$yæþ$ + A™èþyæþ$ 

 (h) Ðèþ_a + C ð̂þa è̄þ$   

4. {Mìü…¨ ´ëÇ¿êíÙMæü  ç³§éË° Ýù§éçßýÆæÿ×ýV> ÑÐèþÇ…ç³#Ðèþ$$.  

 (a) íÜ¦ÆæÿÐèþ$$Ë$ 

 (b)  ™èþ™èþÞÐèþ$Ðèþ$$ 

 (c) BVæüÐèþ$ çÜ…«̈  

 (d) ÐðþOMæüÍµMæüÐèþ$$ 

 (e) Ðèþ$çßý§éÓ è̂þMæüÐèþ$$ 

 (f) °´ë™èþÐèþ$$ 

 (g) Lç³ Ñ¿æýMìü¢MæüÐèþ$$Ë$ 

 (h) MîüÏº ™èþ$ËÅÐèþ$$ 

5. D {Mìü…¨ Ðé°° ÑÐèþÇ…ç³#Ðèþ$$. 

  (a) E™èþ¢Ðèþ$ ç³#Ææÿ$òÙOMæüÐèþ è̂þ è̄þÐèþ$$Ë$ 

 (b)  Æðÿ…yæþ$ B§óþÔèý çÜ…«§æþ$Ë$ 

 (c) çÜ…Äñý*Vøç³§æþ 

 (d) A^èþe  



     

  

(DSTEL31) 

ASSIGNMENT-2 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 
TELUGU – III –  GRAMMAR AND HISTORY 

MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

 

1. ™ðþË$Væü$ Íí³ ç³Ç×êÐèþ$Ðèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

2. B…{«§æþÐèþ$$ & ™ðþË$Væü$ & ™ðþ è̄þ$Væü$ ç³§éË$ è̂þÇ{™èþ è̄þ$ çÜ…{VæüçßýÐèþ$$V> ÑÐèþÇ…ç³#Ðèþ$$. 

3. ™ðþË$Væü$ÌZ çÜ…«̈  çÜÓÆæÿ*ç³Ðèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

4. {´ë`¯é…{«§æþ Ô>çÜ è̄þ M>ÐèþÅ¿êÚë ç³Ç×êÐèþ$Ðèþ$$ è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

5. D {Mìü…¨ Ðé°Mìü çÜÐèþ*«§é è̄þÐèþ$$ {ÐéÄæý$$Ðèþ$$.  

 (a) §æþ„ìü×ý {§éÑyæþ ¿êçÙË$ 

 (b) ÐèþÆæÿ~ ÐèþÅ™èþÅÄæý$Ðèþ$$   

 (c) Ýë…çÜP –†M>§é è̄þ… 

 (d) ºçßý$ Ðèþ è̂þ è̄þÐèþ$$ 

 (e) AçÜÐèþ*ç³Mæü, çÜÐèþ*ç³Mæü {MìüÄæý$Ë$  

 (f) ÌZMæü °Ææÿ$Mìü¢ 

 (g) Ýëíßý™èþÅ Ææÿíßý™èþ {§éÑyæþ ¿êçÙË$ 

 (h) §ðþOÐèþ§æþ™èþ¢Ðé§æþÐèþ$$. 

  



   

  

 (DSTEL 32) 
ASSIGNMENT-1 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

TELUGU – IV : LITERARY CRITICISM 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

 

1. (a) MæüÑ™éÓ°² °ÆæÿÓ_… è̂þ$rÌZ ¿êÆæÿ¡Äæý$ ´ëÔ>a™èþ$ÅË AÀ{´ëÄæý*Ë è̄þ$ ÑÐèþÇ…^èþ…yìþ.  

 (b) E™èþ¢Ðèþ$ ÑÐèþ$ÆæÿØMæü Ë„æü×ýÐèþ$$Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

  

2. (a) M>ÐèþÅ õßý™èþ$Ðèþ#Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$.  

 (b) ÆæÿçÜ °çÙt̄ èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

  

3. (a) D {Mìü…¨ Ðé°Mìü Ëçœ$$ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$ : 

  (i) "iÑ™èþ ÑÐèþ$ÆæÿØ¯èþÐóþ$ MæüÑ™èþÐèþ$$" 

  (ii) A¿êÅçÜÐèþ$$ 

  (iii) Q…yæþ M>ÐèþÅÐèþ$$ 

  (iv) ð̄þO†Mæü ÑÐèþ$ÆæÿØ. 

   

 (b) D {Mìü…¨ Ðé°Mìü Ëçœ$$ ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$ : 

  (i) Ðèþ$Ðèþ$Ãr$yæþ$ 

  (ii) fVæü¯é²£æþ ç³…yìþ™èþÆ>Äæý$Ë$ 

  (iii) AÇÝëtsìýÌŒý 

  (iv) AÀ è̄þÐèþ Væü$ç³#¢yæþ$. 



   

  

(DSTEL 32) 
ASSIGNMENT-2 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

TELUGU – IV : LITERARY CRITICISM 
MAXIMUM MARKS :30 

 ANSWER ALL QUESTIONS 

 

 

 

1. (a) {ÔèýÐèþÅ §æþ–ÔèýÅ M>ÐèþÅÐèþ$$Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$.  

 (b) M>ÐèþÅ ¿ôý§æþÐèþ$$Ë è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 
  

2. (a) D {Mìü…¨ Ðé°Mìü Ëçœ$$ ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$ : 

  (i) {ç³Ýë¢Ðèþ è̄þ 

  (ii) ^ér$Ðèþ# 

  (iii) C†àçÜÐèþ$$ 

  (iv) Ýëíßý™èþÅ ÑÐèþ$ÆæÿØ. 
  

  (b) D {Mìü…¨ Ðé°Mìü Ëçœ$$ ÐéÅQÅË$ {ÐéÄæý$$Ðèþ$$ : 

  (i) ´ûÆ>×ìýMæü ÑÐèþ$ÆæÿØ 

  (ii) Mæü£é°Mæü 

  (iii) ÆæÿçÜ çÜ…QÅ 

  (iv) Ðèþ$×ìý {ç³ÐéâæýÐèþ$$. 
  



   

  

 (DAHIS31) 
ASSIGNMENT-1 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

HISTORY – III : HISTORY OF MODERN EUROPE  

(1789-1960 AD) 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

 

1. Write about the constituent assembly and its power. 

 Æ>gêÅ…Væü çÜ¿æý A«̈ M>ÆæÿÐèþ$$Ë$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

2. What was the impact of industrial revolution in Europe? 

 IÆø´ëÌZ fÇW è̄þ ´ëÇ{Ô>Ñ$Mæü Ñç³ÏÐèþÐèþ$$ Äñý$$MæüP {ç³¿êÐèþÐóþ$sìýtÑ? 

3. Explain the work done by the National Assembly in the French Revolution. 

 {òœ…^Œþ Ñç³ÏÐèþÐèþ$$ ¯ésìý gê¡Äæý$ çÜ¿æý J è̄þÇ…_ è̄þ ç³° ¡Ææÿ$ ™ðþË$µÐèþ$$. 

4. Write about political, social conditions in Europe. 

 Äæý$$Æø‹³ è̄þ…§æþÍ Æ>fMîüÄæý$, ÝëÐèþ*hMæü ç³ÇíÜ¦†° ÑÐèþÇ… è̂þ$Ðèþ$$. 

5. What were the characteristics features of Renaissance? 

 ç³# è̄þÆæÿ$ijÐèþ¯èþÐèþ$$ Äñý$$MæüP Ë„æü×ýÐèþ$$Ë$ HÑ? 

6. Explain the merits and demerits of Industrial revolution. 

 ´ëÇ{Ô>Ñ$Mæü Ñç³ÏÐèþÐèþ$$ ÐèþË¯èþ MæüË$Væü$ Ìê¿æý è̄þçÙtÐèþ$$Ë è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$. 



   

  

(DAHIS31) 
ASSIGNMENT-2 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

HISTORY – III : HISTORY OF MODERN EUROPE  

(1789-1960 AD) 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

1. Give an account of the National States in Europe. 

 IÆø´ëÌZ° gê¡Äæý$ Æ>fÅÐèþ$$Ë è̄þ$ Væü*Ça ™ðþË$ç³#Ðèþ$$. 

2. Write about the reasons of Russian Revolution 1917. 

 1917 ÌZ fÇW è̄þ ÆæÿÚëÅ Ñç³ÏÐèþÐèþ$$ è̄þMæü$ VæüË M>Ææÿ×ýÐèþ$$Ë è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

3. Estimate the achievements of league of Nations and why it failed. 

 ¯é¯égê† çÜÑ$† Ýë«̈ …_ è̄þ ÑfÄæý$Ðèþ$$Ë è̄þ$ õ³ÆöP° A¨ G…§æþ$ÐèþË è̄þ ÑçœËÐèþ$Äñý$Å è̄þ$? 

4. Explain Europe after the Second World War.  

 Æðÿ…yæþÐèþ {ç³ç³… è̂þ Äæý$$§é®̄ èþ…™èþÆæÿÐèþ$$ IÆø´ëÌZ° ç³ÇíÜ¦™èþ$Ë¯èþ$ õ³ÆöP è̄þ$Ðèþ$$. 

5. (a) Young Italy. 

  Äæý$…VŠü CrÎ. 

 (b) Fascism. 

  ¸ëíÜfÐŒþ$. 

 (c) Foreign policy. 

  Ñ§óþÔ>…Væü Ñ«§é¯èþÐèþ$$. 

 (d) Pearl Harbour. 

  ò³ÇÌŒý àÆæÿ¾ÆŠÿ. 

 (e) UNO. 

  IMæüÅÆ>fÅ çÜÑ$†. 

 (f) Security Council. 

  ¿æý{§æþ™èþ Ðèþ$…yæþÍ. 



  

  

   

  

 (DAHIS32) 
ASSIGNMENT-1 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

History – IV(E) : HISTORY OF MODERN ANDHRA 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

 

1. Raghupathi Venkata Ratnam Naidu. 

 Ææÿçœ$ç³† Ððþ…Mæür Ææÿ™èþ²… ¯éÄæý$$yæþ$. 

2. Neelam Sanjiva Reddy. 

 ±Ë… çÜ…iÐèþ Æðÿyìþz. 

3. Communist movement in Andhra.  

 B…{«§æþÆ>çÙ‰Ðèþ$$ è̄þ…§æþ$ MæüÐèþ$$Å°çÙ$t E§æþÅÐèþ$Ðèþ$$ è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

4. Socio cultural awakening in Andhra desa. 

 B…{«§æþÆ>çÙ‰Ðèþ$$ è̄þ…§æþ$ Ýë…íœ$Mæü, Ýë…çÜP –†Mæü ^ðþO™èþ¯èþÅÐèþ$$ è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

5. Explain importance of Kandukuri Veeresalingam in Andhra Renaissance. 

 B…{«§é ç³# è̄þÆæÿ$ijÐèþ¯èþ E§æþÅÐèþ$…ÌZ Mæü…§æþ$Mæü*Ç ÑÆóÿÔèýÍ…Væü… V>Ç {ç³™óþÅMæü™èþ è̄þ$ Væü*Ça ÑÐèþÇ… è̂þ$Ðèþ$$. 

6. Assess the contribution of Asaf Jahis to Andhra Society and culture. 

 B…{«§æþ§óþÔèý çÜÐèþ*fÐèþ$$ Ðèþ$ÇÄæý$$ çÜ…çÜP –†Mìü BçÜ‹œ gêíßýË$ ^óþíÜ è̄þ õÜÐèþË è̄þ$ A… è̂þ¯é ÐóþÄæý$$Ðèþ$$. 

7. Write a note on culture of Andhras from Satavahanas to Raya of Vijayanagar. 

 Ô>™èþÐéçßý¯èþ è̄þ$…yìþ ÑfÄæý$ è̄þVæüÆæÿ Æ>Äæý$Ë$ ÐèþÆæÿMæü$ B…{«§æþ  

çÜ…çÜP –†ò³O JMæü VæüÐèþ$°Mæü Æ>Äæý$…yìþ. 



   

  

(DAHIS32) 
ASSIGNMENT-2 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

History – IV(E) : HISTORY OF MODERN ANDHRA 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

1. Explain reforms introduced by Salar Jung I. 

 1Ðèþ ÝëÌêÆŠÿ f…VŠü M>Ë… ¯ésìý çÜ…çÜPÆæÿ×ýË è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

2. Write about formation of Andhra state. 

 B…{«§æþ Æ>çÙ‰ AÐèþ™èþÆæÿ×ý fÇW è̄þ ¡Ææÿ$ è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

3. How the Andhra movement was successfully continued in 1953?  

 1953 ÌZ H Ñ«§æþÐèþ$$V> B…{«§é E§æþÅÐèþ$Ðèþ$$ Mö è̄þÝëW…§ø ÑÐèþÇ… è̂þ$Ðèþ$$? 

4. Sri Krishna Devaraya. 

 } Mæü–çÙ~ §óþÐèþÆ>Äæý$$Ë$. 

5. Home rule movement. 

 çßZÐŒþ$ Ææÿ*ÌŒý E§æþÅÐèþ$Ðèþ$$. 

6. Sir Thomas Munroe. 

 çÜÆŠÿ £éÐèþ$‹Ü Ðèþ${¯ø. 

7. Kanya Sulkam. 

 Mæü¯éÅ Ôèý$ËP…. 

8. Ravi Narayna Reddy. 

 Æ>Ñ ¯éÆ>Äæý$×ý Æðÿyìþz. 



   

  

 (DAHIS33) 
ASSIGNMENT-1 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

HISTORY – IV(E): HISTORY OF USA (1776-1945 AD) 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

 

1. Explain treaty of Paris 1783. 

 1783 ´ëÇ‹Ü çÜ…«̈ ° ÑÐèþÇ… è̂þ$Ðèþ$$. 

2. Describe Geographical features of North America. 

 E™èþ¢Ææÿ AÐðþ$ÇM> ¿oVøãMæü Ææÿ*ç³ÆóÿQË è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

3. Explain George Washington.  

 gêÆŠÿj ÐéíÙ…VŠür Œ̄þ¯èþ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

4. Explain Industrial growth. 

 ´ëÇ{Ô>Ñ$Mæü ÑM>çÜÐèþ$$ è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

5. What is radical reconstruction? 

 B¨Ðèþ$ ç³# è̄þÇ²Æ>Ã×ý… Væü*Ça ÑÐèþÇ… è̂þ$Ðèþ$$. 

6. Explain making of new constitution. 

 è̄þ*™èþ è̄þ Æ>gêÅ…VæüÐèþ$$¯èþ$ Væü*Ça ÑÐèþÇ…^èþ$Ðèþ$$. 



   

  

(DAHIS33) 
ASSIGNMENT-2 

B.A. DEGREE EXAMINATION, JUNE-2022. 

Third Year 

HISTORY – IV(E): HISTORY OF USA (1776-1945 AD) 
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

1. Explain the causes for the world great depression and how America solved it? 

 {ç³ç³… è̂þ…ÌZ BÇ¦Mæü Ðèþ*…«§æþÅ… Æ>Ðèþyé°Mìü VæüË M>Ææÿ×êË$ AÐðþ$ÇM> §é°° H Ñ«§æþÐèþ$$V> ç³ÇçÙPÇ…_…§ø 

ÑÐèþÇ…^èþ$Ðèþ$$. 

2. Explain agrarian revolution. 

 ÐèþÅÐèþÝëÄæý$Mæü Ñç³ÏÐèþÐèþ$$ è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

3. Explain the America's entry into Second World War. 

 AÐðþ$ÇM> 2Ðèþ {ç³ç³… è̂þ Äæý$$§æþ®…ÌZ H Ñ«§æþÐèþ$$V> {ç³ÐóþÕ…_…§ø ÑÐèþÇ…^èþ$Ðèþ$$. 

4. Describe Nationalism and Secularism.  

 gê¡Äæý$ Ðèþ$ÇÄæý$$ ÌoMìüMæü Ðé§æþÐèþ$$ è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$. 

5.  (a) French settlement. 

  {òœ…^Œþ. 

 (b) The Muckrakers. 

  Ðèþ$MŠüÆ>MæüÆŠÿÞ. 

 (c) 14 points of Woodrow Wilson. 

  E{yøÑËÞ Œ̄þ 14 çÜ*{™éË$. 

 (d) Constitution. 

  Æ>gêÅ…VæüÐèþ$$. 

 (e) Alien and seditron. 

  ÐðþO§óþÕMæü Ñ{§øçßý ^èþrtÐèþ$$. 

 (f) Economic development. 

  BÇ¦M>ÀÐèþ– ®̈.  



   

  

 (DAHIS 34) 
ASSIGNMENT-1 

B.A. DEGREE EXAMINATION, JUNE-2022 

HISTORY – IV(E) : INDIAN ARCH. 

WITH REFERENCE TO ANDHRA  
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

 

 

1. Describe the relation of archaeology with Geography history. 

 çœÆ>™èþ™èþÓÔ>çÜ̂Ðèþ$$ è̄þMæü$ ¿æý*Vøâê°Mìü, è̂þÇ{™èþMæü$ VæüË çÜ…º…«§æþÐèþ$$ è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

2. Describe archaeology. Explain its relation with science. 

 çœÆ>™èþ™èþÓÔ>çÜ̂Ðèþ$$ è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$ §é° çÜ…º…«§æþÐèþ$$ C™èþÆæÿ Ô>çÜ̂Ðèþ$$Ë™ø ÑÐèþÇ…^èþ$Ðèþ$$. 

3. Write a note on Ajanta paintings.  

 Af…™é ÕËµ MæüâæýË è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

4. Describe Art and Architecture of Vijayanagar. 

 ÑfÄæý$ è̄þVæüÆæÿ Mæüâæý Ðèþ$ÇÄæý$$ ÐéçÜ$¢Ô>çÜÐ̂èþ$$ è̄þ$ Væü*Ça ÑÐèþÇ… è̂þ$Ðèþ$$. 

5. Describe the sculptures and inscription of Pallava period. 

 ç³ËÏÐèþ#Ë M>ËÐèþ$$ ¯ésìý Ñ{VæüçßýÐèþ$$Ë$ Ðèþ$ÇÄæý$$ Ô>çÜ è̄þÐèþ$$Ë è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

6. Describe the special features of the Indus valley civilization. 

 íÜ…«§æþ$ ¯éVæüÇMæü™é {ç³«§é è̄þ Ë„æü×ýÐèþ$$Ë è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 



   

  

(DAHIS 34) 
ASSIGNMENT-2 

B.A. DEGREE EXAMINATION, JUNE-2022 

HISTORY – IV(E) : INDIAN ARCH. 

WITH REFERENCE TO ANDHRA  
MAXIMUM MARKS :30 

ANSWER ALL QUESTIONS 

1. Explain the greatness of Ashoka. 

 AÔZMæü$° Vöç³µ™èþ¯èþÐèþ$$Ë è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

2. Explain the importance of Sri Krishna Devarayas. 

 } Mæü–çÙ~§óþÐèþÆ>Äæý$Ë Vöç³µ™èþ è̄þÐèþ$$ è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

3. Describe Indian temples. 

 ¿êÆæÿ™èþ Ðèþ$…¨ÆæÿÐèþ$$Ë è̄þ$ Væü*Ça {ÐéÄæý$$Ðèþ$$. 

4. Describe the Iconographic forms of Navagraha.  

 è̄þÐèþ{Væüçßý {ç³†Ðèþ*Ô>çÜÐ̂èþ$$ Äñý$$MæüP AM>ÆæÿÐèþ$$ è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

5.  (a) Pre history of India. 

  ^èþÇ{™èþ  ç³NÆæÿÓMæü Äæý$$Væü…. 

 (b) Mesolithic Age. 

  Ñ$ÝëÍ†MŠü Äæý$$VæüÐèþ$$. 

 (c) Lothal. 

  ÌZ£æþÌŒý. 

 (d) Inscription of Rudramba. 

  Ææÿ${§é…º Ô>çÜ¯èþÐèþ$$. 

 (e) Numismatics. 

  ¯é×ñýÐèþ$$Ë$. 

 (f) Nataraja. 

  è̄þrÆ>f. 


